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Ch. 13 Review Period ____ Name k&)’

State the formula/equation for each of the following. Identify each part of the equation.

1. Slope Y?— >’{ 2. Point-slope form 3. Slope-intercept form
M2 — Y-y=r(X-X) Y=rixt )
4. Distance’" | 5. Equation of a circle 6. Midpoint

Do ) (e (b)=r> = (R ﬁ&)

Find each of the following for each pair of points. a) Slope, b) Midpoint, and c) Dlsfance.

7. (0, 0)and (3.4) 8. (2, 5) and (6,3) 9. (0, 8)and (132, 3)
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Write the equation of each graphed line in slope-intercept form.
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Identify the slope of the line that is a) parallel and b) perpendicular to the given line.
13.y = -2x -1 Q) My =~ 2 0) M| = Ji
14.y=-2—x—2 a)f"l”:;_. b)/“\_L:"‘._Q‘

Identify the center and radius for each of the following.

15.(x -9+ (y+1)2 =36 16. (x+5)?*+y?=18
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Write the equation of each line in slope-intercept form using the given information.

17.m=-2; (1,~4) | 18. (3, -1)and (-6, -4)3 19. (0, 4) agd @3 |
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20. m=-= (2 0) 21. Horizontal line through (6, 8) 22. Vertical line through (7, 10)

Y="30¢2) IX=7/

y="3x13 |

23. Parallel to y=4x+2  24. Perpendicular toy = %xl 25. Parallel toy +1=-3(x —
? through (2,3) M|="f  through (0,5) /'] =—2.  through (4,-4) /'t = 3)
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Write the equation of the described circle.

26. Cenfer(0,0),r'adius 1 27. Cenfer'( 32) radius 4 28. Center (0, 5), diameter 10) =5

K] o | (3= 16 XPHY-5) =25

29. Center (-6, 0), diameter 14.) (=] 30. Tangent to the y-axis with center (3, 5) 1= 3

()Y =44 (-3 4(y-5)*=
31. Tangent to the x-axis with center (5, 2) 32. Center (-1, 3), point on the circle (;5, 11)
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